## A DIOPHANTINE EQUATION CONCERNING FINITE GROUPS

Maohua Le

> In this paper we prove that all solutions $(y, m, n)$ of the equation $3^{m}-2 y^{n}= \pm 1, y, m, n \in \mathbb{N}, y>1, m>1, n>1$, satisfy $y<10^{6 \cdot 10^{4}}, m<1,4 \cdot 10^{15}$ and $n<1,2 \cdot 10^{5}$.

1. Introduction. Let $\mathbb{Z}, \mathbb{N}, \mathbb{P}, \mathbb{Q}$ be the sets of integers, positive integers, odd primes and rational numbers respectively. In [2], Cresenzo considered the solutions ( $p, q, m, n, \delta$ ) of the equation
(1) $p^{m}-2 q^{n}=\delta, p, q \in \mathbb{P}, m, n \in \mathbb{N}, m>1, n>1, \delta \in\{-1,1\}$,
which is concerned with finite groups. He claimed that if ( $p, q, m, n$, $\delta) \neq(239,13,2,4,-1)$, then $(m, n, \delta)=(2,2,-1)$. However, we notice that (1) has another solution $(p, q, m, n, \delta)=(3,11,5,2,1)$ with $(m, n, \delta) \neq(2,2,-1)$. Thus it can be seen that the above result is not correct. If we follow the proof of Cresenzo, we can argue as follows. The above result is deduced from the following lemma:

Lemma A ([2, Lemma 1]). Suppose that $q \in \mathbb{P}$ and $x, m, n \in \mathbf{N}$. If

$$
\begin{equation*}
x^{m}-2 q^{n}= \pm 1, x>1, m>1, n>1, \tag{2}
\end{equation*}
$$

then $m$ is a power of 2. Furthermore, the sign of the term $\pm 1$ must be negative.

Notice that if $2 \not \backslash x m$, then from (2) we get

$$
2 q^{k}=x \mp 1
$$

for some $k \in \mathbf{N}$ with $k<n$. Now there are two cases:

$$
x= \begin{cases}3, & \text { if } k=0  \tag{3}\\ 2 q^{k} \pm 1, & \text { if } k>0\end{cases}
$$

Hence, Lemma $A$ is false since the first case of (3) was not considered in [2]. The lemma must be replaced by:

Lemma $\mathrm{A}^{\prime}$. Suppose that $q \in \mathbb{P}$ and $x, m, n, \in \mathbb{N}$. If (2) hold, then either $x=3$ or $x>3$ and $m$ is a power of 2 . Furthermore, in the last case, the sign of the term $\pm 1$ of (2) must be negative.

Thus, the correct main statement of [2] should be that the solutions $(p, q, m, n, \delta)$ of (1) satisfy either $p=3$ or $p>3$ and $(m, n, \delta)=(2,2,-1)$ except when $(p, q, m, n, \delta)=(239,13,2,4,-1)$. In this paper, we deal with the solutions of (1) with $p=3$. We shall prove a general result as follows:

Theorem. The equation
(4) $3^{m}-2 y^{n}=\delta, y, m, n, \in \mathbb{N}, y>1, m>1, n>1, \delta \in\{-1,1\}$,
has only finitely many solutions $(y, m, n, \delta)$. Moreover, all solutions of (4) satisfy $y<10^{6 \cdot 10^{9}}, m<1.4 \cdot 10^{15}$ and $n<1.2 \cdot 10^{5}$.

## 2. Lemmas.

Lemma 1. Let $k \in \mathbb{N}$ with $\operatorname{gcd}(6, k)=1$. If $k>1$ and $(X, Y, Z)$ is solution of the equation

$$
X^{2}-3 Y^{2}=k^{Z}, X, Y, Z, \in \mathbb{Z}, \operatorname{gcd}(X, Y)=1, Z>0
$$

then there exist $X_{1}, Y_{1} \in \mathbb{N}$ such that

$$
\begin{gathered}
X_{1}^{2}-3 Y_{1}^{2}=k, \operatorname{gcd}\left(X_{1}, Y_{1}\right)=1 \\
1<\frac{X_{1}+Y_{1} \sqrt{3}}{X_{1}-Y_{1} \sqrt{3}}<(2+\sqrt{3})^{2} \\
X+Y \sqrt{3}=\left(X_{1}+\lambda Y_{1} \sqrt{3}\right)^{Z}(u+v \sqrt{3}), \lambda \in\{-1,1\}
\end{gathered}
$$

where $(u, v)$ is a solution of the equation

$$
\begin{equation*}
u^{2}-3 v^{2}=1, u, v \in \mathbb{Z} \tag{5}
\end{equation*}
$$

Proof. Since the class number of the binary quadratic forms with discriminant 12 is equal to 1 and $2+\sqrt{3}$ is a fundamental solution of (5), the lemma follows immediately from [6, Lemma 7].

Lemma 2 ([3]). Let $a, b, k, n \in \mathbb{Z} \backslash\{0\}$ with $n \geq 3$. All solutions ( $X, Y$ ) of the equation

$$
a X^{n}-b Y^{n}=k, X, Y \in \mathbb{Z}
$$

satisfy $\max (|X|,|Y|) \leq 2 n^{(n-1) / 2-1 / n} H^{n-3 / n}|k|^{1 / n}$, where $H=$ $\max (|a|,|b|)$.

Lemma 3 ([7]). The equation

$$
1+X^{2}=2 Y^{n}, X, Y, n \in \mathbb{N}, X>1, Y>1, n>2
$$

has no solution $(X, Y, n)$.
Lemma 4 ([9]). The equation
(6) $\frac{X^{m}-1}{X-1}=Y^{n}, X, Y, m, n \in \mathbb{N}, X>1, Y>1, m>2, n>1$,
has only solution $(X, Y, m, n)=(7,20,4,2)$ with $4 \mid m$.
Lemma 5 ([10]). The equation (6) has only solutions ( $X, Y, m$, $n)=(3,11,5,2),(7,20,4,2)$ with $2 \mid n$.

Let $\alpha$ be an algebraic number with the minimal polynomial

$$
a_{0} z^{d}+\cdots+a_{d-1} z+a_{d}=a_{0} \prod_{i=1}^{d}\left(z-\sigma_{i} \alpha\right), a_{0} \in \mathbb{N}
$$

where $\sigma_{1} \alpha, \cdots, \sigma_{d} \alpha$ are all conjugates of $\alpha$. Then

$$
h(\alpha)=\frac{1}{d}\left(\log a_{0}+\sum_{i=1}^{d} \log \max \left(1,\left|\sigma_{i} \alpha\right|\right)\right)
$$

is called the logarithmic absolute height of $\alpha$.
Lemma 6. Let $\alpha_{1}, \alpha_{2}$ be real algebraic numbers with $\alpha_{1} \geq 1, \alpha_{2} \geq$ 1 , and let $D$ denote the degree of $\mathbb{Q}\left(\alpha_{1}, \alpha_{2}\right)$. Let $b_{1}, b_{2} \in \mathbb{N}$, and let $b=b_{1} / D h\left(\alpha_{2}\right)+b_{2} / D h\left(\alpha_{1}\right)$. For any $T$ with $T>1$, if $0.52+\log b \geq$ $T$ and $\Lambda=b_{1} \log \alpha_{1}-b_{2} \log \alpha_{2} \neq 0$, then

$$
\log |\Lambda| \geq-70\left(1+\frac{0.1137}{T}\right)^{2} D^{4} h\left(\alpha_{1}\right) h\left(\alpha_{2}\right)(0.52+\log b)^{2}
$$

Proof. Let $B=\log \left(5 c_{4} / c_{1}\right)+\log b, K=\left[c_{1} D^{3} B h\left(\alpha_{1}\right) h\left(\alpha_{2}\right)\right], L=$ $\left[c_{2} D B\right], R_{1}=\left[c_{3} D^{3 / 2} B^{1 / 2} h\left(\alpha_{2}\right)\right]+1, S_{1}=\left[c_{3} D^{3 / 2} B^{1 / 2} h\left(\alpha_{1}\right)\right]+1, R_{2}=$ $\left[c_{4} D^{2} B h\left(\alpha_{2}\right)\right], S_{2}=\left[c_{4} D^{2} B h\left(\alpha_{1}\right)\right], R=R_{1}+R_{2}-1, S=S_{1}+S_{2}-1$, where $c_{1}, c_{2}, c_{3}, c_{4}$ are positive numbers. Notice that $(u-1 / T) v<$ [uv] $\leq u v$ for any real numbers $u, v$ with $u \geq 0$ and $v \geq T$. By the proof of [4, Theorem 1 and 3$]$, if $B \geq T$,

$$
\begin{align*}
& \sqrt{c_{1}}=\frac{\rho+1}{(\log \rho)^{3 / 2}}+\sqrt{\frac{(\rho+1)^{2}}{(\log \rho)^{3}}+\frac{\rho+1}{T \log \rho}}, c_{2}>\frac{2}{\log \rho}  \tag{7}\\
& c_{3}=\max \left(\sqrt{c_{1}}, \sqrt{c_{2}}\right), c_{4}=\sqrt{2 c_{1} c_{2}}+1 / T
\end{align*}
$$

for any $\rho$ with $\rho>1$, then

$$
\begin{equation*}
\log |\Lambda| \geq-\left(c_{1} c_{2} \log \rho+1\right) D^{4} h\left(\alpha_{1}\right) h\left(\alpha_{2}\right) B^{2} . \tag{8}
\end{equation*}
$$

Setting $\rho=5.803$. We may choose $c_{1}, c_{2}, c_{3}, c_{4}$ which make (7) hold and

$$
\begin{equation*}
c_{1} c_{2} \log \rho+1<70\left(1+\frac{0.1137}{T}\right)^{2}, B<0.52+\log b \tag{9}
\end{equation*}
$$

Substituting (9) into (8), the lemma is proved.
3. Proof of Theorem. Let $(y, m, n, \delta)$ be a solution of (4). Since

$$
\operatorname{ord}_{2}\left(3^{m}+1\right)= \begin{cases}1, & \text { if } 2 \mid m  \tag{10}\\ 2, & \text { if } 2 \nmid m\end{cases}
$$

for any $m \in \mathbb{N}$, if $\delta=-1$, then $m$ must be even. Further, by Lemma 3 , it is impossible. By Lemma 4, (4) has no solution with $\delta=1$ and $4 \mid m$, and by Lemma 5 , (4) has only solutions $(y, m, n, \delta)=(2,2,2,1)$ and $(11,5,2,1)$ with $\delta=1$ and $2 \mid n$. If $2 \mid m$ and $2 \nmid n$, then from (4) we get
(11) $3^{m / 2}+1=y_{1}^{n}, 3^{m / 2}-1=2 y_{2}^{n}, y_{1} y_{2}=y, y_{1}, y_{2} \in \mathbb{N}, 2 \mid y_{1}$.

Since $n>2$, (11) is impossible by (10). Therefore, if $(y, m, n, \delta) \neq$ $(2,2,2,1)$ or $(11,5,3,1)$, then $\delta=1$ and $2 \nmid m n$. It is a well known
fact that $\left(3^{m}-1\right) /(3-1)$ has a prime factor $l$ with $l \equiv 1(\bmod m)$ (see [1]). So by (4) we have

$$
\begin{equation*}
y \geq 2 m+1>2 n+1 \tag{12}
\end{equation*}
$$

If $2 \nmid m$, then from (4) we get

$$
\begin{equation*}
A^{2}-3 B^{2}=y^{n}, A, B \in \mathbf{N} \tag{13}
\end{equation*}
$$

where

$$
\begin{equation*}
A=\frac{3^{(m+1) / 2}-1}{2}, B=\frac{3^{(m-1) / 2}-1}{2} . \tag{14}
\end{equation*}
$$

Since $\operatorname{gcd}(6, y)=\operatorname{gcd}(A, B)=1$ by Lemma 1 , we see from (13) that

$$
\begin{equation*}
A+B \sqrt{3}=\left(X_{1}+\lambda Y_{1} \sqrt{3}\right)^{n}(u+v \sqrt{3}), \lambda \in\{-1,1\} \tag{15}
\end{equation*}
$$

where $(u, v)$ is a solution of (5), $X_{1}, Y_{1} \in \mathbb{N}$ such that

$$
\begin{gather*}
X_{1}^{2}-3 Y_{1}^{2}=y, \operatorname{gcd}\left(X_{1}, Y_{1}\right)=1,  \tag{16}\\
1<\frac{X_{1}+Y_{1} \sqrt{3}}{X_{1}-Y_{1} \sqrt{3}}<(2+\sqrt{3})^{2} . \tag{17}
\end{gather*}
$$

Let
(18) $\rho=2+\sqrt{3}, \bar{\rho}=2-\sqrt{3}, \varepsilon=X_{1}+Y_{1} \sqrt{3}, \bar{\varepsilon}=X_{1}-Y_{1} \sqrt{3}$.

Since $A=3 B+1$ by (14), we have

$$
1<\frac{A+B \sqrt{3}}{A-B \sqrt{3}}=\frac{(\sqrt{3}+1)\left(\sqrt{3^{m}}-1\right)}{(\sqrt{3}-1)\left(\sqrt{3^{m}}+1\right)}<2 .
$$

Hence, by (15) and (17), we have
(19) $\quad A+B \sqrt{3}=\left\{\begin{array}{ll}\varepsilon^{n} \bar{\rho}^{s}, \\ \bar{\varepsilon}^{n} \rho^{s},\end{array} \quad A-B \sqrt{3}= \begin{cases}\bar{\varepsilon}^{n} \rho^{s}, & \text { if } \lambda=1, \\ \varepsilon^{\bar{\rho}^{s}}, & \text { if } \lambda=-1,\end{cases}\right.$
where $s \in \mathbb{Z}$ with $0 \leq s \leq n$. From (19),

$$
\varepsilon^{n} \bar{\rho}^{s}(\sqrt{3}-\lambda)=\bar{\varepsilon}^{n} \rho^{s}(\sqrt{3}+\lambda)-2 \lambda,
$$

whence we obtain

$$
\begin{equation*}
\left|(2 s+\lambda) \log \rho-n \log \frac{\varepsilon}{\bar{\varepsilon}}\right|=\frac{2}{\sqrt{3^{m}}} \sum_{j=0}^{\infty} \frac{\rho / h 3^{-m i / 2}}{2 i+1}<\frac{4}{\sqrt{3^{m}}} \tag{20}
\end{equation*}
$$

Let $\alpha_{1}=\rho$ and $\alpha_{2}=\varepsilon / \bar{\varepsilon}$. Then $\mathbb{Q}\left(\alpha_{1}, \alpha_{2}\right)=\mathbb{Q}(\sqrt{3})$. We see from (5), (16) and (18) that

$$
\begin{equation*}
h\left(\alpha_{1}\right)=\frac{1}{2} \log \rho, h\left(\alpha_{2}\right)=\log \varepsilon \tag{21}
\end{equation*}
$$

Furthermore, since $3^{m}>2 y^{n}$, by (17) and (21),

$$
\begin{equation*}
h\left(\alpha_{2}\right)<\log \rho \sqrt{y} \tag{22}
\end{equation*}
$$

Let $b=(2 n+1) / 2 h\left(\alpha_{2}\right)+n / 2 h\left(\alpha_{1}\right)$. Recall that $0 \leq s \leq n$. By Lemma 6, if $n>10^{5}$, then

$$
\begin{equation*}
\log \left|(2 s+\lambda) \log \rho-n \log \frac{\varepsilon}{\bar{\varepsilon}}\right|>-1145 h\left(\alpha_{1}\right) h\left(\alpha_{2}\right)(0.52+\log b)^{2} \tag{23}
\end{equation*}
$$

Since

$$
b<\frac{2 n+1}{2 \log \rho \sqrt{y}}+\frac{n}{\log \rho}<\frac{2 n+1}{2 \log 3.732 \sqrt{2 n+1}}+\frac{n}{1.317}<0.8 n
$$

by (12) and (22), the combination of (20) and (23) yields

$$
1+760(\log \sqrt{y})(0.3+\log n)^{2}>n \log \sqrt{y}
$$

whence we deduce that

$$
\begin{equation*}
n<1.2 \cdot 10^{5} \tag{24}
\end{equation*}
$$

Let $m=r n+t$, where $r, t \in \mathbb{Z}$ with $r \geq 0$ and $0 \leq t<n$. Then (4) can be written as

$$
\begin{equation*}
3^{t}\left(3^{r}\right)^{n}-2 y^{n}=1 \tag{25}
\end{equation*}
$$

It implies that $(X, Y)=\left(3^{r}, y\right)$ is a solution of the equation

$$
3^{t} X^{n}-2 Y^{n}=1, X, Y \in \mathbb{Z}
$$

Thus, by Lemma 2, we get from (24) and (25) that $y<10^{6 \cdot 10^{9}}$ and $m<1.4 \cdot 10^{15}$. The theorem is proved.

Remark. By a better estimates for the lower bound of linear forms in two logarithms by Laurent, Mignotte and Nesterenko [5], the upper bound of solutions of (4) in Theorem can be improved.

Acknowledgment. The author thanks the referee for his valuable suggestions.

## References

[1] G.D. Birkhoff and H.S. Vandiver, On the integral divisor of $a^{n}-b^{n}$, Ann. of Math., (2) 5 (1904), 173-180.
[2] P. Cresenzo, A diophantine equation which arises in the theory of finite groups, Adv. Math., 17 (1975), 25-29.
[3] N.I. Feldman, Diophantine equations with a finite number of solutions, Vestnik Moskov. Univ. Ser. I, Mat. Meh., 26 (1971), 52-58 (Russian).
[4] M. Laurent, Linear forms in two logarithms and interpolation determinants, In: M. Waldschmidt, Linear independence of logarithms of algebraic numbers, The Institute of Mathematical Sciences, IMS Report No 116, Madras, 1992.
[5] M. Laurent, M. Mignotte and Yu. Nesterenko, Formes linéaires en deux logarithmes et déteminants d'interpolation, to appear.
[6] M.-H. Le, $A$ note on the diophantine equation $x^{2 p}-D y^{2}=1$, Proc. Amer. Math. Soc., 107 (1989), 27-34.
[7] W. Ljunggren, Über die Gleihungen $1+D x^{2}=2 y^{n}$ und $1+D x^{2}=4 y^{n}$, Norske Vid. Selsk. Forhardl, 15 No. 30, (1942), 115-118.
[8] , Noen setninger om ubestemte likninger av formen $\left(x^{n}-1\right) /(x-$ 1) $=y^{q}$, Norsk. Mat. Tidsskr., 25 (1943), 17-20.
[9] T. Nagell, Note sur l'équation indétermineé $\left(x^{n}-1\right) /(x-1)=y^{q}$, Norsk. Mat. Tidsskr., 2 (1920), 75-78.

Received December 7, 1992. Supported by National Natural Science Foundation of China.

Zhanjiang Teachers College
P. O. Box 524048

Zhanjiang, Guangdong
P. R. China

